Rules and Regulations

http://www.urnrd.org/

Allocation and Carryforward

65 inches allocation + 7.5 inches carryforward = 72.5 inches 1:1

> 72.5 inches = 2:1

83 inches used

-<u>72.5</u>

10.5 at 2:1 = 21

72.5+21=93.5 inches

Producer ID: DB55

JASPER FANNING

QTR SE	SECTION ®	TPRG 54	Meter ID 79-8-5328	Meter 1 2014 449.399	Readings 2015 531 291	Meter Units	2015Use (Ac. Ft.) 81.89 81.89	Certified Acres 128.20	2013 Use per Cert. 4 4 Acre (Acre In.) 14 12.86	2014 Use per Cert 12.79 Acre (Acre In.) 12.79	2015 Use per Cert 5. R. Acre (Acre In.)	Acres Enrolled 6	Program Type C-168 540	Fieldname
			78-8-3556	863.532	953.038	ACFT	89.51							
sw	9	540	70-0-3330	003.332	955,036	ACFI	142.29	128.00	13.8	10.46	13.34	0.0	C-168 540	_
			79-8-5325	281.277	423.568	ACFT	142.29							
Po	ol ID:		Total Acres i	n Pool :	Beg Alloc:	A	g Use 201	3:	Avg Use 2014:	Avg Use 2	2015:	Re	emaining Allocation	
C-	168 540		379.60		82.59		13.69		11.54	9.92			47.44	

82.59-65.0= 17.59 CF

65.0 -13.69-11.54-9.92 = 29.85 Remaining allocation

3 Yr Avg. = 11.7

11.7 x 5 yrs= 58.58"

Producer ID: DB55

QTR W	SECTION 19	TPRG 33	Meter ID 77-8-337M	Meter II 2014 60.845	Readings 2015 223.246	Meter Units	2015Use (Ac. Ft.) 40 162.40	Certified Acres 129.30	2013 Use per Cert. 4 Acre (Acre In.)	2014 Use per Cert 5	2015 Use per Cert. 5 Acre (Acre In.) 5	En	Program Type	Fieldname
NE	26	340					170.71	128.40	13.75	11.97	15.95	0.0	D-79 F1	_
			77-8-335M	99.48	270.19	ACFT	170.71							_
Po	ol ID:		Total Acres i	n Dool -	Pag Allan									
			TOTAL ACTES I	n Foot.	Beg Alloc:	A	g Use 2013	1:	Avg Use 2014:	Avg Use 2	015:	Res	maining Allocation	
D-7	9 F1		257.70	n Pool .	68.43	A	ng Use 2013 13.92	t:	Avg Use 2014: 11.77	Avg Use 2 15.51	015:	Ret	27.23	

68.43-65.0= 3.43 CF

65-13.92-11.77-15.51= 23.80 Remaining Allocation

3 Yr Avg. = 13.73

11.7 x 5 yrs= 68.67"

Pooling

Floating township

New pools or adding tract to existing pool, limited to 39 inches CF

All tracts in pool have pool average use

QTR SE	SECTION ®	TPRG \$	Meter ID 798-5328	Meter 1 2014 449.399	Readings 2015 531.291	Meter Units ET	2015Use (Ac. Ft.) 89 89	Certified Acres 128.20	2013 Use per Cert 4 Acre (Acre In.) 4	2014 Use per Cert. 27 Acre (Acre In.)	2015 Use per Cert 5 Acre (Acre In.)	Acres Enrolled 6	Program Type	PoolID C-168 540	<i>Fieldname</i>
sw	8	540					89.51	123.40	12.86	11.39	8.70	0.0		C-168 540	_
sw	9	540	78-8-3556	863.532	953.038	ACFT	89.51 142.29	128.00	13.8	10.46	13.34	0.0		C-168 540	_
			79-8-5325	281.277	423.568	ACFT	142.29								
Po	ol ID:		Total Acres	n Pool :	Beg Alloc:	Av	g Use 2013):	Avg Use 2014:	Avg Use	2015:		Remaining	Allocation	
C-1	68 540		379.60		82.59		13.69		11.54	9.92			47.44		

128.2 acres x 7.67 inches per acre = 983.294"

123.40 acres x 8.70 inches per acre = 1073.58"

128.0 acres x 13.34 inches per acre = 1707.52"

3764.394 total inches/379.6 total acres= 9.92" per acre

Transfers

130 allocated acres
Historical use average – 11 inches
SDF 45% transferring to 30% SDF

 $11/13 = 0.8461538 \times 130 \text{ acres} = 110 \text{ acres able to transfer}$

140 allocated acres
Historical use average – 13.2
SDF 20% transferring to 30% SDF

140 acres \times 0.90 = 126 acres able to transfer